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LARL zo8 (k) il kg 319.00
2|5 L% AL =251 5 (BR) 1 3.50
3|k (F)a—TU 8k, kg 1,430.00
4| T REA (FE) Hiljigk ke 1,380.00
51H 0L (BE) il kg 100.00
6|LHL AL =25 5 (BF) ke 330.00
E—~v ALIE =55 7 5 (BR) kg 280.00
8| =—L XA AL =25 5 (BR) ke 352.00
9 EIZIENTA LA ALIE =55 7 5 (BR) kg 305.00

10[BRAfiF A~ ()z—78 5 ke 650.00
11| T — A D F )z —U 8, kg 565.00
12[BCcADHE H AR & (BR) A 150.00
13|/ e o H A S £ dn (BF) A 28.00
4IFHNAE AL =25 5 (BF) ke 660.00
15| \Z FLIR = 7 5 (BK) kg 85.00
16125 AL =25 5 (BF) ke 870.00
IWI=ES FLIE = 555 5 (BR) kg 84.00
18]~ AL =25 5 (BF) ke 57.00
19[Fg X FLIR = 275 5 (BR) ke 110.00
20| A A LR =55 3 () ke 274.00
215 FLIR = 7 5 (BK) kg 274.00
22| KAR AL =25 5 (BF) ke 67.00
23| 7T 4 A FLIR =55 7 28 (BF) kg 1,200.00
24|19 AL =25 5 (BF) ke 132.00
25| R A FLIR =56 & () kg 228.00
26| EA AL =25 5 (BF) ke 45.00
271z Az FLIR =5 28 (BF) kg 1,850.00
28| I AL =25 5 (BF) ke 265.00
29| - FLIR =56 5 (BK) kg 344.00
30{h~h AL =25 5 (BF) ke 460.00
31[R=h~Fh FLIR =56 5 () kg 760.00
32[/ i AL =2 5 (BF) ke 440.00
33| B FLIR = 561 5 () kg 845.00
34| THHW AL =2 5 (BF) ke 690.00
35| AEMEE FLIR =561 5 (%) ke 780.00
36|z DxFE AL =25 5 (BF) ke 240.00
INWAZ FLIR =508 5 (B ke 250.00
38| LT AL LY ALIE =55 7 5 (BR) ke 240.00
9T (FR) Hiljigk kg 358.00
40( 54 AL = 2 5 (BF) ke 470.00
4112307 FLIR = S 75 5 () kg 200.00
42|\SAL T TV (k) Mk ke 224.00
43|1FX AT FLIR = S 75 5 () kg 543.00
44| BT (B)a—TU kg 880.00
45|4EHH A ()7L vy a3I—Rbl-7e~ kg 1,570.00
46| IKHH A () 7Ly a3—hbiz/p~ kg 610.00
477 LA o B —h (BR) kg 1,290.00
48| FLAHA () IR \& K 250.00
49| £ AB () IR\ B 1 250.00
50{.5VB () IR \& kg 1,140.00
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51|V Tex (Bk) 7> oaa KgAK E 1% 720.00
52[72 5L LR =55 5 () ke 1,080.00
53| KT FLIR =275 3 (%) kg 320.00
5413 H D ()z—T8 5 ZN 430.00
55|\ Y TA ADFE (BR) & L& kg 580.00
56| FEH R A H AR & (BR) A 730.00
57| AH L DT-H )z —TU 8 %N 318.00
58| ¥y T — A H A2 1 hn (BK) %N 300.00
59| HEIFV AR (k) il kg 419.00
60| /> A ANVFNRRL v T H ARS8 £ vn (BK) ZN 470.00
61|KLE LI A ()7L vy 23—kl kg 630.00
62|HHLNET AL J— o B3 —h (BR) ke 800.00
63|F A ALIE =55 5 5 (BR) kg 357.00
64[ %% ¥~ (k) Ak ke 198.00
65| FLAZ A IKE. (FR) Hiljigk kg 282.00
66|y H A S22 £ vn (BR) A 12.00
67| A=A T — H AR S A in (K N 450.00
687\ A (Bk) 7oz KiG/KPE ke 2,100.00
69| BfFETrE () IR\ & kg 5,780.00
70| EH EBF H AR A (BR) 0w 450.00
71 EGME (F)a—TU 8k & 52.00
IEINES LR =55 3 () ke 430.00
T3[R 3N — (F)a—U 8k N 600.00
T4|EFHERB () IR\ & ke 2,550.00
75425 FLIR =56 & () ke 1,750.00
16| Y — A (BR) & L b ZN 900.00
17 4FbLEYIVA ()7L vy a3i—Rbl7e~ kg 1,570.00
78|Z1FHYTH H AR R (BR) ke 620.00
19| R —< (FR) Hiljigk kg 680.00
80|41V —7"ih (BR) & L b ZN 860.00
81 [#ili FLIR =255 5 (BR) kg 536.00
82|51k () B H ps )G ke 74.00
83| & (F)a—U 8 b S 230.00
84| whE—~ (BE) Hiljigk ke 680.00
85|k 3% FLIR =561 5 (%) kg 470.00
86|4R7-5B () IR)\U& ke 2,600.00
87|\ B (Bk) 7> oaa Kig/KE kg 1,120.00
88|IMIEHL Y TH H AR A (BR) % 660.00
89|&HUA (Bk) 7 v oaa Kig/KEE kg 1,050.00
90| —RETIV A () 7Ly a3—hbiz/p~ kg 930.00
91| FFH TV I RERFEMA IR | H 40.00
92[A AR A — 25 A X H A FE £ 0 (BK) N 950.00
93| EA FLIR =265 R (BR) kg 130.00
94| Fu 1T (k) ik ke 738.00
95| FER ()2 —T 8 il 580.00
96| L L EHELDA o B—h () ke 1,000.00
97| NN —baay A (OK) WAL (BF) 1l 125.00
98| L U 7x (BR) ‘=0 kg 1,050.00
VY| HLHOHNGI T P —h H AR S in () 48 480.00

100[#A B EIE L wHFEW H A2 80 (BR) 4 405.00
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101|BHia— ) —3—any/r (= H A S £ dn (BF) & 20.00
102[.50C (BR) 7> vaa KiGKE kg 1,140.00
103[F NV RVINET T A N—T WAL (BR) A 100.00
104| - FLIERK DR () = L& %3 855.00
105|BEIEH DX 4T )z —TU 8, 4 348.00
106|FLERL YT (BR) & L& ZN 480.00
107|Fedex A LA ALIE =55 7 5 (BR) kg 385.00
1085 mL 7270 — o851 H A2 1 hn (BK) N 580.00
109[3Fea R AT — o B —h () e 45.00
110[fF L #ve—F =KLy (BR) & L& ZN 700.00
117N —F =Sy I AR —) Bk & L&MW 13 605.00
L2 BEN D74 ()z—78 5 ZN 660.00
BRI VA=A Bk & L&MW 43 765.00
1145 O LB K+ H AR & (BR) N 640.00
15| —AR b L BI—F0ER) K 85.00
116|~U XKLy H AR B (BR) K 550.00
17| G~ =T H AR S A in (K N 620.00
118| %A & R H AR B (BR) 0w 690.00
119" B 7 LBRESAE (BR) 7o aa Rig/KE K 88.00
1208 B HRbbRNAT—FH () 7Ly 23—z~ e 77.00
121[AE>FET )z —TU R kg 664.00
122 E B DXL 1 H AR B (BR) 0w 180.00
123[8H9F 555 KA FLIR =55 7 28 (BF) kg 350.00
124| <~ hA—F D (BF) & L& hh S 1,250.00
125|8RF DA () IR\ & kg 6,000.00
126[#RTp>B () IR \& ke 6,000.00
127|$R Tl HIUEDB () IR\ & kg 6,100.00
128[#R e T EAMEEC () 7R\ & kg 6,100.00
1293 ~ 77 P R A (Bk) 7> oaa Kig/KE kg 1,500.00
130[>~7> 7 v 5B () IR \UE ke 1,700.00
131 RFFDi=i SRpEE (BR) %N 780.00
132|589 AL =2 5 (BF) ke 400.00
133| Ui, FLIR = 561 5 () kg 70.00
134| A—=7A AL =2 5 (BF) ke 90.00
135 | LLFLER B et SRpEE (BR) & 69.00
136 | BT 1 KIS ERHITEA )2 —U Rk 54 180.00
137[#R720 20 AJEB () IR\ & kg 2,400.00
138 Ay (q)z—TU/ & 168.00
139| 2 —Z N LBAT A A o B —h (BR) kg 1,580.00
140 e E AR I TV WY Z 7 EERFR S AL ER | {# 40.00
141[4EL x5 Kt ()2 —T 8 4 380.00
142\ B TEIOHH 5 (BF) & LA hh 4 280.00
143[&>Fu g, FLIR = S 75 5 () kg 182.00
144|270 — 7 23595 % ALIRE = 577 5 (BK) kg 1,350.00
145~ 2 —L—-31F ()2 —T 8 i 180.00
146| L AIFHATAZF — X (— ) B L3 S LR 3607 K 40.00
47D ()2 —T 8 4 110.00
48| E TR D= Bk & L& 1N 1,850.00
149|187 L — R —) — R (B)2—U 43 433.00
150|CEIF- 1 s (F)z—TU8 b e 84.00
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151| & H A S £ dn (BF) kg 92.00
152 —=> H A8 1 oh (BK) kg 710.00
153/ S 2 — H AR S £ dn (BF) A 20.00
154|728 HH 9 bk ()z—T8 5 03 19.00
155|720 o — L A—T (k) & oA kLR = AT A 105.00
156|725 5B A LA A—T (BR) B A FLIR = P A 105.00
157 [ A H A 20 (BR) kg 600.00
158|LoH0 ARk EY — ()z—78 5 A 168.00
159|0h b IEH oD D E, (k) & e A kLR = AT A 105.00
160|062 13 A (BR) B A kLR & ZE P A 105.00
161|737 213 A (B)a—U Rk A 180.00
162[ 7NV =R p—H— (BR) B A kLR &= ZE P A 115.00
163 b AT N (R) B A FLIR = 2EPT A 105.00
164|fiE LB DI F (BR) B A kLR & ZEpT A 125.00
165|8 EBFEDLF 2 — (Bk) & oA kLR = AT & 125.00
166[F XX (BR) T4 FLIR = EPT A 125.00
167|4FEL A FrBI—kR) kg 8,500.00
168 | i LIS B Rk F)a—U R, ZN 368.00
169 Kg3— (F)a—TU 8k & 185.00
170|721 > (B)2—U R K 285.00
171 S A& AESBE D13 A (BR) B oA FLIR = 2P 1l 176.00




